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.3?9 — X

5;0 - Q0,000 ~X

32% X
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Becca wants to make mix juice and soda punch. She can buy fruit juice for
$3 a gallon and soda for 54 a gallon. If she wants to make 28 gallons of
punch at a cost of $3.25 a gallon, how many gallons of fruit juice and how
many gallons of soda should she buy?

Stacey has 520,000 to invest in two different bank accounts. One account
pays interest at 3% per year and the other account pays 5% per year. How
much should she invest in each account if she want to ear@nterest
per year on the total amount?

05X + .DS(.’J.o_,oao-x) = (0"’5')(10.;"“)

«03x+ looo-.osx = qoD .
B sv00— X/
—.0ax +e0D =900

4 5
5000 % A
_.pax=—/oD /3
Ax = /G000
X = §005
Marco has $8000 to save or his daughter’s college education. He wants to
divide it between one account that pays 3.2% interest and the other

account pays 8% interest per year. How much should he invest in each
account if he wants the interest on the total investment to be 6.5%.

0% X1+ 0% (8000—@ = .o.5( Sooc)
O32X + LH90 — 08X = S20

ZA X }-(.‘ra,ooo-%ox = S52g000

¥4
ASDo @
“9Y8x = - 130,000

¥ = 3,500 "/ sSoo @
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Triangle Property

Angle Measure:

LALLSYLC= /80

Perimeter:

P=a+vic

Area:
Pr=4bh

h

2

Right Tringle

N thet Les

Ohet R-‘s"t' L.
Rt L =90

me | = 90

miaL= X = 35

ne 3= X430 =53]

What you will learn about:
Solving Geometric Applications:
Triangles, Rectangles, Pyvthagorean Theorem

Measure of two angles of a triangle are 55 and 82 degrees. Find the
measure of the third angle.

B2+SSIix=I%0D

.

180
=131

X= 42

The perimeter of a triangular garden is 24 feet. The lengths of two sides
are four feet and nine feet. How long is the third side?

157 +X=
=137

P=ctbre 24= Y4 54c
P=4Ura+rc Al =15+
I Lt

The area of a trianglar church window is 90 square meters. The base of the
window is 15 meters, What is the new window’s height?

=3 h=
1@0):6{ { 5')( k}\l

[ 90=1/S L

One angle of a right triangle is 28°. What is the measure of the third angle?

R X+23=90
2t

X= 6
X-l'li5+‘io = I¥0 Xt28299

The measure of one anlge :} a right triangle is 20 degrees more than the
measure of the smallest angle. Find the meassure of all three angles.

Lok m

X4 X+20+90 =180
Ax +110=18D

Ax="70
X=55"
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Pythagorean Theorem

- .
-

r—

-

Hes to be r& b

Hyfo{gﬁ.uif.- — ’..O-haﬂst
I(ofpoc:lru- Tét side
ctibe et

Use the Pythagorean Theorem to find the length of the hypotenuse shown

below. _b,:_+ ys c:z'
sl N& Arib=c”
Vas=ic®
4=b C=

Use the Pythagorean Theorem to find the length of the leg shown below.

b a
S%in =13

5 L
13 S+ =109

[T

b= &

Kelvin is building a gazeboo and wants to brace each conrner by placing 10”
piece of wood diagonally as shown above. If he fastens the bood so that
the ends of the brace are the same distance from the corner, what is the
length of the legs of the right triangle formed? Approximate th the nearest

tenth of an inch,

-
= ]

x %’rnchl:s \ XZ,L )(L:- !01
r S

= x
F
X =7
Y: 5—9 ﬁ'_h? [ ;r\(-l‘\‘ﬁ'
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John puts the base of a 13-foot ladder five feet from the wall of his house
as shown below. How far up the wall does the ladder reach?

Randy want to attach a 17 foot string of lights to the top of the 15 foot
mast of his sailboat, as shown below. How far from the base of the mast
should he attach the end of the string?

crHs=I
at+1;§: A B4
o ar=64
a=9 Ft

Rectangles

Properties

Perimeter

Area
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